Class IV

Chapter 2
B Addition and Sul_otraction
ASSIGNMENT (BASIC)

TIME:1 HOUR MAX. MARKS: 30
1. +0 = 666

a. 66

b. 6.666 (1]

c. O

d 666

2 In subtraction the result 1s called
a. Subtrahend
b. Difference [1]
c. Addend
d. Minuend
in the blanks.
The successor of 3999 is [1]
12,123 + 2,253 = [1]
nswer the following questions.
Find the number which is 40 more 399. [1]
Find how much more the greatest 3-digit number than smallest 2-digit number. [1]
hort Answer Type Question-I
Arrange in column and find the sum: 23_.568 and 4_.587
Arrange in column and find the difference: 38,156 and 7.895
How much more is 16,500 than 14,576
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10, | Simplify: (47,489 + 2,65,468) — 11,256
11.| Find the sum of smallest 5- digit number and greatest 4-digit number.

12. | Aman has a collection of 9,354 stamps. From these 5,329 stamps are from India

and the rest are from other countries. Find the number of stamps from other [4]

countries.

13. | Write down the greatest 7-digit number and smallest 6-digit number, then

calculate their sum. [4]

14. | In a poultry farm the production of eggs was 3. 864 in the first month_ 3,674 in
the second month and 3,963 in the third month. Find the total number of eggs [4]
produced in the three months.




